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Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_Accoutancy/Commerce 02.02.2024 09.30 AM TO 11:30
AM

Exam Date : 2024-02-02

Exam Time : 09:30:00 AM To 11:30:00 AM

Total Marks : 100

Note : The correct answer is indicated by the green color. ALl
¥clol Glal 31 GlL yuddIi w1 8.

Question List:
Section: Section-A

Which of the following is NOT a characteristic of scientific research? - D ETRITEN .’sﬂ a.Sll[;L‘s
d2lloto] a1l «1efl? [ 1 Mark |

= Objectivity - G%2Y

= Systematic approach - ®|d [Rard wi(61a14
= Personal opinion - U (Seldid v[EuLd
= Empirical evidence - Ll?-l-bl]ic‘lfs yrldl

The research process includes ALL of the following EXCEPT: - A2Alust ulsuimi «ilAetl Riaietl
dH el vHLdQL Al 8: [ 1 Mark |

» Formulating a research question - 421tel U8l €154l

= Analyzing data - HL[&dls} ([AsdNBl

= Writing a research proposal - AAbel £U1xd quid]

» Implementing the research findings - 2lltaiell dIRLlA HHEU] ysq

Which type of research is most likely to use secondary data sources? - 531 WUS12e1i Mlteiui SLE]
321 ldlell GulaL ediefl Aetidel Aleil dy B2 [ 1 Mark |

= Exploratory research - 2 2Lltellcls A2Lltel

» Descriptive research - ARlellcH S Ll

= Explanatory research - HH°{(<ﬂ(‘3-L‘s dNeet RUYLSALALS AAlHsl)
= Predictive research - ?}{ﬂl-llfgid SENDL]

A well-defined research problem should be: - AR Ad catvallid Al bet 21 UL 3] sldl
oS1€53: [ 1 Mark |

= Based on personal curiosity - C4[5cdld [FSil1 UR A 18LRd

s Too broad and general - W |[US ol A MY

= Measurable and specific - HIUL 21514 dcil ¥4 Ul ssA

» Clearly unrelated to business objectives - ldd [deil G-Eﬁln AL A RYL HRjviftd



An ideal research design should be: - s w12l A2A Yol [SHLBl Eld] HFA: [ 1 Mark |

= Rigid and inflexible - 5612 A WRAR

» Ethical and socially responsible - a[cls d1al AIHL[¥s A wdloielR
= Based on biased data sources - U&IULcl HI[&cll Blcd) U 4{181Rd

» Unrelated to the research question - AN Ut 412 wW{ui(ed

Whrich of the following is NOT a component of a descriptive research study? - E D TR 3{!;
ARlelli s Aol WOALeA] Y2 oleil? [ 1 Mark |

Hypothesis formulation - qg'mz'eu Wail

Data analysis and interpretation - 321 (ANl ua wele e

= Summarizing findings and drawing conclusions - d 1R[] U122l A dIRQI £12dL
Defining the research population - deNdet ddl cdivi[d

Why is the identification and formulation of a research problem crucial in the research process? -

At UlSAIM Aot UHRULAL BN el el AL HIR2 [ARLIUS B2 [ 1 Mark |

It helps in selecting the right research methodology - d U1y ALl l-ltgf;‘l Ue
SWAMi Hee 52D

It determines the size of the research team - d ¥2Lltlst 8'11-l°i 5691551 52 B,

Ié ensures quick completion of the research - qd AAlbela »sugl ILQ{ 5dlei] Wid3] #110

= It is not crucial; any problem will suffice - d [ctaLlus «iefl; s1eurL xRl Yl 2l

What is the significance of research in managerial decisions? - duLa sy (R %i%l.lhldt'i Qj,
Hecd 82 [ 1 Mark |

It increases the workload of managers - A AAesR\etl d5ElSaA duR 8

It provides a scientific basis for decision-making - d G‘l@.{u Adl ML aSH[:'lEs VLYl
YAUS 8

It delays decision-making processes - a (18l Adlefl ulsAIni [Aeot 52

It is irrelevant to managerial decisions - A AulEsly AR 1R Wdd 8

What are the components of an ideal research design? - 162l 22Ul [SHLYalall e 5] Qj 82 [1
Mark |

Objectives, formulation, and identification - G%{an, Yl ¥ WY
Variables, hypotheses, and data collection - uaﬂ, lLd'l’-lR.Qllbn Vol Sel AAS
Motivation, process, and decision-making - Ql@ll, U(sul @Q[ll Adle{]

= Survey, interview, and observation - Ha:&lQl, H4lsld Wl WAl Sel

Which of the following is NOT a type of business research? - ol At 1niell 8{], SICENURTEN DT
USI2 oi2l? [ 1 Mark |

Exploratory research - }20tellcs QU
Descriptive research - q|€[°‘lld—l3 el
Historical research - ¥l[d&1[As AN sl
= Experimental research - WIRLLOLS {2\ est

What are the two main types of data commonly used in research? - AllbeAui Aoy d
GUAIUI Adldl 6] YuA UsIRell 21 2] 872 [ 1 Mark |

= Numeric and alphabetical - AUALHS Wl HOL&R
Qualitative and quantitative - I|QLLcHS Vol HIALHS
= Primary and secondary - ylel(Hs Wl HiruHs

» Raw and processed - S1A] Ao WIAS

Which of the following is NOT a method of collecting primary data? - oflAstiuiefl s¢ ule1fis
UL[&d] ¥1s saleil uegld «1el? [ 1 Mark |

» Surveys - %la&l@.n



= Experiments - RN
= Literature review - Al[&cd H‘-ﬂ&ll
= Observations - A sel)

The most reliable source of secondary data for business research would be: - LAY 1Y alldel Hi2
o1l 3eleil Alell (csdeily 2ld e2: [ 1 Mark |

= Blog posts - @\N] In?:{'g%l

= Government reports - 4513l W&l

= Online forums - W\e1G 15 fﬂ?}l

= Company website marketing materials - $Us{lefl dogulee HIE[2oL U]

Which of the following is a non-probability sampling technique? - oflAet iU ie]l 58 olloi-
Ullw (o2l Arulcar 2sle1s 82 [ 1 Mark |

Simple random sampling - ¥20U1 54 aHail
Stratified random sampling - ?:dﬂ{sd o5y olHail
= Convenience sampling - Qj,[au.ldl olHsall Qql

= Systematic sampling - Ued[d¥Rell «iYsil Adil

What is the first step in the analysis of data in research? - 20uaiHi Hiledletl ﬁﬁaﬁlk’lﬂ uyy
ud1q 2| 82 [ 1 Mark |

= Interpretation - u{elel el

Data cleaning - sal UsLY
Hypothesis testing - QCIHR'QH uzlesl
Data collection - HL[&dll AAs

Which scaling ‘t_echnique assigns values based on the order or rank of items? - $8 (61 dseils
dquiloll VISR veldl Jsell WU YR ALYl 5 D? [ 1 Mark |

= Nominal scale - «llHi[5d ¥4
= Ordinal scale - %1 (Selel 3¢
» Interval scale - ¥id21€ 354

= Ratio scale - QIR ¥4

Which scaling technique involves respondents assigning scores to statements based on their level of
agreement or disagreement?

58 B[A21 dseilsHi Greld e Aol 52U Weldl MM [dall deil w112 [Fdesilal 114
Aludlell qH1d2L &l 82 [ 1 Mark |

= Nominal scale - sllHi(Sc 354
= Likert scale - [658 34

= Ratio scale - QIR ¥4

= Ordinal scale - ¥\ (516 ¥4

What is a hypothesis in research? - 2Llteiui \Ld:*-ll?.@.ll 9 82 [ 1 Mark |

A proven fact - W5 AL(Wd &5l5d

A tentative explanation for an observed phenomenon - WAL S0l 539 e2eil Ul
SIHYALG AU

A statistical measure - 2551514 HIU

A descriptive summary of data - 3elell dulellais AIRiLL

Type I error in hypothesis testing means: - 1{&{“[2'2[[ Ul i evu 1 owoﬂ wel B: [ 1 Mark |

= Rejecting a true null hypothesis - AR ol lLdﬂl%Qlla 1513l sledl

= Failing to reject a false null hypothesis - W12l & Ydtl1RBl1a sis1RaIH] [ds0dl
= Choosing the wrong statistical test - W&l 41551514 54121 Uie sl

= Misinterpreting the data - Saloi U~n§ u{elel2e] 59



A common level of significance used in hypothesis testing is: - \{\dﬂl?.@.ll ulaeiui Guulaui
Adidl Hecdoll AL1HIoY 22 SUQ O: [ 1 Mark |

0.1
0.05
0.025
0.01

The mean, median, and mode are all examples of: - Hi?.l%l, Heys ua [Reld (MSAS) Vlell 1YL
GelsWU 8: [ 1 Mark |

= Measures of variation - [A(dtdlell HIUES

= Measures of skewness - 7[1%{'11{@<L°1'l uole|

= Measures of central tendency -?sc(.:l?-l dERlell UL
= Measures of correlation - A& {8l UdIG|

In correlation, what does a negative coefficient indicate? - AsAOIUUL, slSIRANS 31'2[18 21 213161
82 [ 1 Mark |

= No relationship - 5165 oiy o]

= A perfect positive relationship - %8 HI;LQ{ USRAHS Aoly

= A perfect negative relationship - N Q{ILQ{ dsAHS Aoy
= A weak positive relationship - cl{U11 SS1RIHS Hoiy

Standard deviation and variance measure: - Hlol§ [dUdel Wal (UG HIU: [ 1 Mark |

= The direction of the data - 52le{l (€211

= The spread or dispersion of the data - Seleil Qscuql ?J{?-IQI%C'HCJJ

» The difference between the highest and lowest values - Aledl ay u{a) el oflul J-LC'?-n
del] dslad

» The exact center of the data - gal"i U155 35"&

Parametric tests rely on the assumption of: - QQ[Q@S y3letl ¥iefl YR U MR AW 8: [1
Mark |

Nominal data - ﬂ@cﬂ Hiledl

Ordinal data - ¥[H1s¥ 521

Normally distributed data - A lHls¥Y Ad [adRd sel (01-11{(1 f&dzm)
Interval data - ¥idR1d 2l

Which of the following is NOT a common parametric test? - of| Aot 1M jeil sy AlHIY Q?.lil[zfs
uzletal «teil? [ 1 Mark |

T-test - 2l-22

ANOVA - 3elld|

» Chi-square test - y]-28dR 22 (514 B2 ‘-lﬂ&'l'%’l)
= Regression analysis - AALlet ([ddNgl

Whern the normality assumption cannot be met, researchers often use: - oRUIR AlH LU lell HIRBIL
(elldd [ader) y2l s3] asidl «iefl, iR 2dusl diRdiR Gulal 52 8: [ 1 Mark |

= Parametric tests with adjustments - JLL&lQll 18l U4 [és uile
= Non-parametric tests - d-ld-ailﬂ@!s ulail

= Increased sample size - elHiloll SEHI SRR

= All of these - GURLScl dHIH

Examples of non-parametric tests include: - d]d-'a.?.lﬂ.@.‘s ulesilell GeleNAI «{lAed 101l
AM1d2L ALY B: [ 1 Mark |

= T-test and ANOVA - El-222 34el ANOVA
= Mann-Whitney U test and Wilcoxon signed-rank test - Hlel-cSlesil {«I,E%'Z el
[Aesl el UEl-os 222



= Spearman's correlation and Fisher's exact test - N elel] YEAoiY [\?sﬂl?ﬂﬂ ALS5Y
ERIE
= All of these - GURL5cl dHIH

¢ One-tailed hypothesis tests focus on: - s syl \{\C{*‘lllk’.ll ul &l ¥lell uR Wld}[;t,"d 52
8: [ 1 Mark |

= Predicting the direction of a difference - d{ledd'l (e2t1e(l 2112116 524l

= Assessing the absolute size of a difference - d§lddeil ALssA $to] YRU[Sel 5]

= Testing for no difference between groups - °;(eﬂ d 518 dsldd Hl2 uleal

» Analyzing relationships between multiple variables - L€ CERICIRER L] H(*{tnﬂ BEANE]

e Confidence intervals in hypothesis testing provide: - \Lci.hll?.'%ll uleteiui (sl vidle Ueled
$38: [1 Mark |

The exact p-value of the test - },R(l, ALS5A p-H&

The range of potential population values - Aetldd axdl LLC'?ﬂ"‘l'l il
The significance level chosen for the test - UZ1&Ql HI2 Ut 53¢ Hscd 2R
The direction of the observed relationship - Wdglsel 53¢ Aoibef] (2Ll

o Statistical power refers to the: - issisly ulsd 2:!, ¢21id B [ 1 Mark |

Chance of committing a type I error - U5 1 ¢{d 59 ls{] i eildeil

Ability to detect a true difference if it exists - %l A WRedcaHi SlU dl ALl dsldd
il ieil gl

Number of participants included in the study - WL AU ARG UEH || vl
Significance level chosen for the test - UZ1&QL HI2 Ue 53¢ Hecd 2R

e What is the primary purpose of a research report? - 2ol wedldedl wielis é(j, Qj 82 [1
Mark |

= To summarize the research process - ANt UlsAleA] AR MUl HI

s To present the findings of a study - 31U ¥<il drReLl Y Sl

= To entertain the readers - LA Slell Ho{l2%el H12

= To promote the researcher's personal opinions - ALY Seil U (SAdld M [GURIA Wl LEst
WU,

« Footnotes in research reports serve to: - 42iltlel &Il é\Z‘"ﬂQH WLHER AL AU D: [1
Mark |

= Explain or expand on specific points in the text without disrupting the flow - Udlsa Wag
USlALSUL [dell 25eHioll ANSSU Ye e Y Wl [drdd 53U

» Cite references for directly quoted and paraphrased material - Alel WAL 539 Wal
ARl 1Al HIR deedl 2is)

= Define technical terms and abbreviations - dlSeilS] 2L0€] ¥la H[E-R—l 0e] AUIWLRIA 52

= All of these - GULSdl dHIH

e Precautions for writing a research report include: - d2lltel Wedld qudl Hizefl AlqAdlxui
oflAetlol AUI1ALA ALY D: [ 1 Mark |

= Using biased language and personal opinions - UYLl ¢HINL W cd(Scddld 4[]
G| S52dl)

= Plagiarism and inaccurate representation of sources - ALl AR w4 Hldlefl
BULSSAH 2L

= Lack of clarity, organization, and logical flow - AL[EIUIZ] Wal Jlclleil WALSSU 1A 1d

= All of these - GURLScl dHIH

e In a research report, what is the purpose of the "Acknowledgment" section? - dAltel Wedleui,
n2dlsld [cdetlotell &d ) 82 [ 1 Mark |

= To present the findings of the study - MeA[Ysll d1RQI % Sl
= To recognize the financial support received - WlH AIQLLS|Y ASIUa MlNWdL UL



= To list the references used in the report - w&dlau | qudd Aeedle(l ULl welladl v
= To outline the research methodology - el Uigfaﬂrl _UIL AUl HI2

In a research report, what does the "Table of Contents" provide? - T ENCE N§QIC1Hi, "Hl‘-l-)ﬂdi
sles (([ANAYRY) 2 Uelol 52 8?2 [ 1 Mark |

= A summary of key findings - d20\tlel AH&dldH i, "HMAls] S1Bs" ([ANAY[) Qf Uelel 53
&2

= A list of references used - AU eeils{l L€

= An outline of the report's structure - W& ldeil U lodl :YJuil

= Personal reflections of the researcher - 420& el <4 [Scldld Uld(o{w

What is the purpose of a firewall in computer security? - $12|2 tl,?.&ll‘-li Sl?-l?.q.lc‘ld.l é(i Qj, 82 [
1 Mark |

» Providing internet access - ool WsAY 1}5’] ulsdl

= Protecting against unauthorized access - U{dﬁl{;d udol A1 &8
= Enhancing computer performance - 311-125,8?. 511013 gy R4

= Running antivirus scans - A2 | 144 ¥vel U] 2811 12

Which‘_ﬁle extension is commonly associated with a Word document? -3 §19¢ W 5S2A AU LY
Ad ds slsyiee 18l Asnidg 82 [ 1 Mark |

» pdf
= .docx

» jpeg
" CXC

What is the purpose of a spreadsheet software like Microsoft Excel? - Microsoft Excel %dl
AseAle Alg2del) &d 2 82 [ 1 Mark |

= Editing images - 896{|3{] Aulled 5:d]l

= Creating and analyzing numerical data - AuvAales Hil&dl vieiladl v19 a°1 GERNTE
59

= Writing documents - £3c119%] QW d]

= Sending emails - gue Hlsedl

What does the term "spam" refer to in email? - SHAUL "2ULH" 2104 Qj, ¢21id 82 [ 1 Mark |

» Important messages from friends and family - (1A W URdIRs1L Llé(‘qli\Q{ X IR

» Unsolicited and unwanted bulk emails - 4[c1289¢{14 31l B4 [e12694{1Y vics BB
= Emails with attachments - %1513l A1&sil HEY

» Emails about special offers - CANENRID GRS

What is the importance of using strong passwords? - H¥0{d Ul dSeil GulaL 8?.0.[01 Hed -‘{I,
82 [ 1 Mark |

To make your computer faster - dH 12l suzg,aza »SYl wWelladl Hie

To personalize your computer settings - dH [l 31-1%8{% »SUl Wsilgdl Hle

To protect your online information and accounts - AU IR] HletalSel HIl&dl wa
U s1Go2 y(&d sl

= To access exclusive content - (L[21% AHA]A W5AA 5L UL

Which word does NOT belong in the group: apple, banana, orange, grapefruit, pear? - 5| 2104
Ui oteil: UsWel, UL, o121, Auge, (U2 [ 1 Mark |

= Apple - Aug

= Banana - M{sileil

» Grapefruit - 3111{5\8
= Carrot - L%

John has 6 red marbles and 4 blue marbles in a bag. He picks out a marble without looking. What
is the probability that it is red? -



lel ULA I 6 CLA WA Bial 4 dLeuil BIRAU B, d 1AL IR % WS BRU GUISI A 8. d
dld Sldleil AAeildell 2f 82 [ 1 Mark |

0.5
0.6
0.4
1

John and Mary each have a pile of coins. John has 3 times as many coins as Mary. If Mary has 10
coins, how many coins does John have?

lel vial W3 €35 LA Riss1iletl 22160 8. %¥elet Ul A3 sl 3 21U Risst 8. 1 A3 wiA
10 1551 B, dl %elol uIA yedl R1ss1 82 [ 1 Mark |

= 30
. 13
= 20
= 40

If Jack is taller than Jill, and Jill is taller than Mark,rwhat is the logical relationship l:etween Jack
and Mark? - %1 B5 24 sl G S1U ol A HL5 52l GUL S1, dl BS W HLS A dLlEs
oty 2 82 [ 1 Mark |

Jack is taller than Mark. - 35 15 5l Gl B.

Mark is taller than Jack. - 415 %5 $cll G B _

Jack and Mark are of the same height. - B5 el HLS YHlet GIULSeAL D.
The relationship cannot be determined. - Y6t o151 53] 2Asldl =18l

Sarah has 3 red shirts, 2 blue shirts, and 1 yellow shirt. How many different outfits can she make
using only these shirts?

ARLSE UIA 3 419 212, 2 dlevil 218 e 1 Ul 212 B, §5d w1l 2ol GUALIL 53al A Jedl el
el Ul2LLs ietldl 2% 82 [ 1 Mark |

N B WV, I N

Choose the verb tense that correctly completes the sentence: "I usually coffee in the morning,
but yesterday tea instead." [ 1 Mark |

drink, drank

will drink, would drink
have drunk, did drink
had drunk, am drinking

Choose the correct synonym for "deceive': [ 1 Mark |

= Enlighten
= Mislead
= Expose
= Reveal

Select the appropriate synonym for "happy": [ 1 Mark |

Sad
Joyful

Angry
Confused

Choose the closest synonym for "ambiguous': [ 1 Mark |

= clear

= uncertain
= concise

= specific

Which sentence is written in the past tense? [ 1 Mark |



She is singing a song.
She sings a song.

She will sing a song.
She sang a song.

Section: Section-B
Management audit means_ - Aulasly vlisle ¥ed [ 1 Mark |

Audit on behalf of Management - A4 5] adl 1(se

Systematic appraisal of management's objectives and procedures - Aulaslel Ghan
Wal s1Ad1E]lef cudReld YRlisel

Audit of Management Accounting - I CEAR]] fé%{l(*n"i w\(se

None of these - S1EURL &l

Goodwill‘.according to the method of purchase of certain years of excess profit... - v (Hs 015101'1
WY Auef]l W Eledl uegld w12 ulesl Aed [ 1 Mark |

= (Weighted Average Profit - Simple Average Profit) x Years of Purchase of Goodwill - (G'llﬁd
U312 A8\ - ULEL UL <18y x ULelSleli W Elot] an]

= (Average Profit - Expected Profit) x Years of Purchase of Goodwill - (Hill%l 015-1 -
WU (& «18)) x UleLSleli Wilgleti anl

= (Expected Profit - Average Profit) x Years of Purchase of Goodwill - (?J{q (&1d °181 - A3RALL
oA8l) x UleLSleli WREleti anl

= None of these - S1SUQ o1&l

If the proportion of gross profit in a company is 25% of total cost, what is the ratio of gross profit?
- s SUs{lUi S1UL ol§lof UHILL §A USdReli 25% S1A dl 1AL oislell 243N 326 2 [ 1 Mark |

0.25
0.15
0.1633
0.2

20%If the cost of goods sold in the books of the company is Rs. 10,00,000, the opening stock is Rs.
2,00,000, and the closing stock is Rs. 3,00,000, then the stock turnover rate willbe - 5Uoilell
AIYS AAE H1deil USdR Rs.10,00,000, 2AReeil 22LS Rs.2,00,000, 2ol HIWR 21 Rs.3,00,000 & cl
21s el e 12l ? [ 1 Mark |

= 4 times - 4 QW
= 5times -5 dWd
= 6 times - 6 AWd
= 8 times - 8§ AWd

Company's working capital turnover 5 times, current assets‘_ Rs. 7,00,000 and sales Rs. 22,00,000,
then how much will be the current liabilities ? -$Ueilell s142ild YSleil Gad] 5 qwd, AUlg
[1esdl Rs. 7, 00,000 ¥4a AULGL Rs. 22, 00,000 S1A dl ALY 2l 326l &1? [ 1 Mark |

Rs. 1,50,000
Rs. 7,50,000
Rs. 9,70,000
Rs. 2,60,000

How are activities classified in cash flow statement according to accounting standard - 3? - [sa10{l

121 — 3y ol A5S Udle UAsHI uglda 56 Ad adilsd saimi v11d 8. [ 1 Mark |

= Cash flow from operating activities - 514171 g [duiell UIH adl Assudls
= Cash flow from investing activities - 518l Ug[dHiell UM ed) Assudls

= Cash flow from financing activities - =llQLi51d Ug(dHiell UM ad) Assudls
= All of these - GURLSd WY %



Revaluation account is also known as? - Yet: 1-L<"\’-li8°‘l Uldlal ol sul stiHel vlaudimi 211d
& ? [ 1 Mark |

Profit & Loss Appropriation A/c - el§l o} S lel slaagll Ulq
Profit & Loss A/c - o1&l o} S lel Wlq

Profit & Loss Adjustment A/c - sl§l oS3l edlEl Wid
None of these - 516Ul 1€l

Pepsi Co. Ltd issued 20,000 equity shares of Rs.10 each at a premium of 50 percent. How much
amount will be transferred to the capital redemption reserve account to redeem 4,000 redeemable
preference shares of Rs 100 each at 5 percent premium? -

Y1l susil (@123 2010 1l s Adl 20,000 S(scAll 22 50 251 UIHUR 612 ULSAUL 4,000
ASIAWE V5o AR €35 2=, 100 il 5 251 ULHAN Yd $cL HI2 YS| Ud BoilHd WidIHi
Fedl 25U 0166l 22l 2 [ 1 Mark |

Rs. 5,00,000
Rs. 2,00,000
Rs. 5,50,000
Rs. 1,00,000

If the contribution ratio is 60 percent, find the margin of safety at a profit of Rs. 1,20,000. -
2\ slunlell IRUNtiR 60 251 S1U dl Rs. 1,20,000 1§12 UG IHA] 2110l 326l 2 [ 1 Mark |

= Rs. 3,00,000
= Rs. 2,00,000
= Rs. 1,80,000
= Rs. 4,00,000

If fixed cost Rs. 1,20,000, the variable cost per unit is Rs. 12 and the break-even point is 10,000
units, what will be the selling price per unit?

%] (3212 WL Rs. 1, 20,000 S14 ASHELS UG Wi Rs. 12 S1U Aol U2 [6ig 10,000 AsH S1Y
dl Y1sUEls AUl (SHd 3edl 212 [ 1 Mark |

s Rs. 12
= Rs. 24
= Rs. 36

= None of these - SISUR] «lS]

TRIPS and TRIMS agreements relate to which of the following? - TRIPS Vol TRIMS 5231
oflAstiHiell Slefl ALl Aoiy 4AA A 2 [ 1 Mark |

WTO
GATT
FEMA

None of these - S18UR| o1 &]

Does not include the economic environment of the business - titlleli Nlﬁf& uu[qzw.mi AHLdLL
elcil o1eil [ 1 Mark |

Competitive Environment - WH[HS dldlcREl
Economic Environment - 34L(el5 Ud[dl
Change in Patent Laws - U2e2 SIU&IH] 5812
None of these - 18U ol&]

In Social Responsibility of Business includes.....- qtlloil A1HL[FS FAlGeITIHI 24121 &A1Y D.....
[ 1 Mark |

Responsibilities towards Workers - 18] Ulef] wdloel3]
Responsibilities towards Customers - Ales| U] waiofeldl
Responsibilities towards Government - A& 5] el o]
All of these - GURLStl Lt %

A policy that regulates discretionary credit in an economy - eld-Hi ﬁﬂ&%@‘{ﬁ& Qllb-l{i,
[etdHet s6t1R eilld [ 1 Mark |



A policy of quantitative credit control -- URMIRILAHS LW [AdA-IA] ol [d
A policy of qualitative credit control - IJSlLcH S 1w (14 31ef] ofl(d
Fiscal Policy- 21511 «{l[d

None of these - 516Ul o1&l

¢ As aresult of Industrialization - Nalﬂ]ﬁl!sfl.‘s?.'%ldl yReud... [ 1 Mark |

» Productivity Growth Accelerates - Gl l&5dll C{ECA QAL HA B
» Savings and Investments Increase -GUd Wl l-j\Sflafsl@,l qd 8
= Markets Expand - W2l [ERfid JIEINS)

= All of these - GULsdl wui %

. Clu§ter sampling method has some limitation/s - ofl Aot 1M el HHUL (eie2let 'l-li.qr(?len edls
HAleL Al HA & [ 1 Mark |

» There remains a large margin of error - ARV [ERIT] Qj\C‘lt"n UY5121E D

= Statistical analysis of data becomes more complex - Hlfécﬂ"i uissieuHly Y ssel dy
%24 i B

= Arrangements of units at each stage do not have an equal chance of being selected - ¢35
doiss AsHlel 215U ded] €5 A safla uedl uHdlefl UHlet ds &l <1l

= All of these - GURLstl w4t %

e Which test is commonly used for qualitative data? - I SllcH S isSIVL HIS AlHIoY A sUl
uilaigleil GUALdL s vi1d 82 [ 1 Mark |

t - Test - t - U1&QL

F - Test - F - UZl&{8l

Chi Square Test - 518 S ERVEAFTE]]
z - Test - z - Ul&lQl

« Definition of Standard Error of Mean.... - HtalSell UHL[Bld £1Ne{] clul..... [ 1 Mark |

» Standard deviation of the sample distribution of the mean - Ht] 5qi| f;‘li.aifad?.@.lﬂ
MLl [Qudet

» The average of the sampling distribution of mean - Htal Sel| [Flel (AdWlell AL

» Interquartile range of the sampling distribution of mean - Ht}|5¢1l (6.2l (AdLeil wid?-
Aqels (AR

= Correlation between the sample distribution of the mean and the population mean - Ht| S|
[c12l (ARl 2 YH[B Heds dAA] Usioitis

¢ A sampling method in which each unit from the population has a chance to be selected into the
sample is called

Au(euiell €35 AsHA [sie2Aoui Ude edledl ds Ui AiUS D Ad] [sie2iet Ueglda 2] sedini
uId & [ 1 Mark |

= Snowball Sampling Method - 21l tl1¢ [l¢.2lel Ueg(dl

» Stratified Sampling Method - CPlT{;d (Stratified) [e.2lt U.&(,[a

= Simple Random Sampling Method - 401 4289 [a1&.2(e1 Ueg [l
s Cluster Sampling Method - %% [e.2let U.i(,[a

e Which of the following tests would be useful for testing the significance of the difference between
the means of two sample groups in situations where the sample size is small and the population
standard deviation is not given?

U3 [le.2le] 5¢ ollo] S1U Wl HH(Bo] UMHIBIA [Audel 21104 of 1Y A URReI[AHI A [sieol

ogellell Heslell dsleldeil Alelsdl dulAdl HI2 «{lAeil WS 53 uletal GuAld «flasA 2 [ 1
Mark |

t - Test - t - UL &QL
7 - Test - z - U3le1Ql
F - Test - F - U3leQl
X2 Test - X2 - Ul&lQl



¢ What were the main features of the New Monetary Policy of 2000-2001?
2000-2001 il oicil at1R1L§1A ofl[doll Yuu WiRiAd] 9 &dl 2 [ 1 Mark |

= Entry of LAF (Liquidity Adjustment Facility) and Financial market Development - LAF
(Liquidity Adjustment Facility) il Ud2L, «1lQLLS|Y wio1Re1) (51

= Entry of banks into insurance business and Interest rate policy - lu o] de i sl wael
ufe] c[%eR ofl(d

» Liberalization of export credit refinancing facility and Holistic Banking - EETRIEIIR
Yol: (€2 Y(AuIHi GelRdl A YdALEl A5

= All of these - GURLsdl LHi %

« Objectives of NABARD include....- sll0i1Seli @qulMi qH1d2L a1 D...
1.Promoting policy, Practice and innovation for rural development - IR E N CETETRITEL °‘ﬂ[(~‘l,
W52 WA slqUddeial Ulcilssl UG
2.Institutional development through rural credit delivery system - 2201l 3(se (slaagil cugzel
GIRL sl [asiy
3.For agriculture, rural infrastructure and rural development - 3.1;].d'1, AL AidR WSl
uel YIH1QL [As1A HI
4.Providing loans to set up industries in the city - 4.21&Mi GUI2I aAlddl Ele 1{3] ylsdl
Choose the correct answer - 4194 Gl Uie 531 [ 1 Mark |

= (1),(3),(4
= (1),(2),3)
« (1),(2),(4
= (1) ¥ (4)

e Statement — 1 RBI occupies a central position as it regulates and controls the credit system of the
country
Statement — 2 Indian money market is organized Choose the correct answer

(Atlol - 1 RBI 3ogellol 4R B 51281 3 d Balell 2Atvy[de] [Aumel 2ia vig2l 2Avdls] s1H 52
8 [dulet - 2 eLRCALY o111 }2NR A6 & ALY Grik URE 5 [ 1 Mark |

Statements one and two are both true - [dtllel V15 Vel 6] Gial AIUL D

Statement one is true and statement two is false - [Atllol 1§ Uy U [dY el & Uﬂg 2]
Statement one is false and statement two is true - [Atllel 1§ U-n@ 8 ¥ [dyls Uy 8
Both statements are false - ¢ial [dtllsl W2l &

e The following options are relevant with —oilAoil [AsAU) sloil A2l iy yd 8
1. Micro Finance - 1. M1 5] (4Y) (€211
2. Rural Credit - 2. 2ed (42181
3. Self Help Group - 3. *d MSlUS HHS
4. Co-operative Bank Credit - 4. s1-3{luR2d oles (Y11 [ 1 Mark |

= [RCI

= RBI

= NABARD

= Ministry of Finance

e Which of the following statements is correct? - oilAetiniefl 5y (auiet ALY & 21 Mark |

= RBI is not a profit making organization - RBI ¢1§ 5| Areul «tell

= RBI does not compete with commercial banks - RBI cL(BeRt (5] A1 Wl 5] «tell
= RBI acts as a banker's bank - RBI Qo53\e{l (5 d33 51 53 ©

= All of these - GURLSdl Wui %

. Whjch of the fo‘_llowing terms describes the Macro Environment? - o{lqsi1Mieil | 210¢ N s)
{4l aiel 5D ? [ 1 Mark |

= Direct Environment- Ucl&l QH{QQQl

s Indirect Environment - 1[?]&'[ ull{q{'%l

» Competitive Environment - A ls dldldul
= Social Environment - U HL[%5 dldldR8l



o Internal environment of a business includes: -- Cdd ¥ Asil MidRS dldldIMI
1.Business ethics and moral standards 1.4 ULRAS «{l[d213 A Alds UNEIEN
2.Business and managerial policies -—- 2. Y Ve cyqelius ofl[dal
3.Prospects of business development -- 3.4 lell [As1edl 2iedeil
4.Government rules and regulations - 4. 42513 [s1uH] ial [Ayueil
5.Industrial Relations —5.3{1#\ (515 {0t
Choose the correct answer -- 124 Gl Uie 52 [ 1 Mark |

= (1),(2), (4) and (5)
= (2),(3), (4)and (5)
= (1),(2),(3) and (4)
= (1), (2), (3) and (5)

e Which one of the following is not covered in the approach adopted by NITI Aayog? - ofl(d 241121
QR AU lca it w1dd [e11HU flAstiHiell 53 w8 v11a] Aaini widd «1eil 2 [ 1 Mark |

s Five- year planning approach - Uy Aegell (611
= Three- year action agenda - AWl o[ B 521t WS

= Seven- years strategy - Hld o[y QR EYs1

= Fifteen-year vision - U&R o[ (el

e Which of the following are considered as the main elements of Business Ethics? - oflAstiniefl sla
qu 181U Aldsdloli Yuu g2 sl dl3 o iaimi 4414 82 [ 1 Mark |

Values, rights and duties - 3-1\('21-1, Y [YUs12 Wal {s?.°lﬂ

Attitudes, pressure and environment - AGQI, €618l Wal DICRIE]
Value, environment and attitude - LLC'U], HHIQQQL wa 4qR)|

= Responsibilities - FAIH 1]

e Which of the following has/have occurred in India after its liberalization of economic policies in
1991?

¢.21. 1991 Hi L[S ofl[duilell Gl 581 UL 11U o{lAet el 2f wioyf B?
(1)Share of agriculture in GDP increased enormously

D)SIUIHIL sMNa- 6] [&4) 81l atl

(2)Share of India's export in World Trade increased

2)[csd AQUIRMI P11Rdlodl [aisiAall (4] qral
(3)FDI inflows increased

3)VIsSluISell udls qeal

(4)India's foreign exchange reserved increased enormously
@)®1cell [ctoil S(sUIHLL vetlHdHi 8l auiR) &dl 8

Choose the correct answer - 4124 Gl Ue 52
[ 1 Mark |

(1) Al (4)

2), (3) ¥l (4)

(2) ¥4l (3)

(1), (2), (3) ¥l (4)

e As per the definition of income, the income includes which of the following? - VLA Seil cul
Yool wldsui oflAstiniell oll A1 el 82 [ 1 Mark |

Profit and gains - s1§| ¥4\ €16

Dividend declared -- %1&2 53¢ [S[cSeS

Voluntary contribution received by a trust created -- ¢l e g GlRIUIH 1 Res ALelst
All of these - GURL Sl w1t %

o Thre family pension received by the family members of armed forces after death of employee is: -
sHYIRoll Y Ul AAA eV1leoll URdlRe1l AU g B UoRlet: [ 1 Mark |

Exempt fully - 4YQ[ 5345

Exempted after fulfilling of certain conditions - U155 21l Yl sU[ uel 5335l
Not exempted ---5H 5cl ofef]

None of these - 518URL o1 &S]



The house rent allowance (HRA) under the salary head of Income Tax Act is given by:
1521 [t [uHeli UdLIReli HellL E601 USLol H1LSL f122) (HRA) PAETRATNTTRIT
1A & [ 1 Mark |

= Section 10
= Section 10 (13A)
= Section 11 (13B)
= Section 11

The gross annual value of the property depends upon: - ﬁ-lc15d°i A dIlls HXY Boil UR [s16{2
& [ 1 Mark |

Standard rent - WHL[Sld LS
Municipal Valuation - R} (st (R1Uq Y&
Fair rent - <% ] LS

All of these - GURL St vl %

Long term capital loss can only be set off against: - disiauntel l-LS'l'U-nZ HIA A1
A2uls 53] 2ASIA B? [ 1 Mark |

= Long-term capital loss - diu L lefl J-LSrlUn?,

= Short-term capital loss - 2512110 Le{] YSIu{l2

= Long-term capital gain - diwatnletl 3-1\510‘[31
= All of these - GURLSd {8l %

Which of the following is not an organisational‘_development intervention program? --
oflAsiiHiell sUl AeU81A [As1d @Y S1ASH o1e{l? [ 1 Mark |

» Team building -- ¥ EHIE]

= Survey feedback - Y&l Uldule

» Leadership development -- a(‘kq [asiu
= All of these - GURLStl viu| %

Which of the following are covered under the scope of Human Resource Management?
oflAeiiHiel] 53 Hicld ALYl AALCGotoll SRIAA @601 B1d] AcdIMi 1< B 1.Forecasting
human resource need —- 1.4leldl 18l YeRAULde(] 24101181

2.Replacement planning -- 2.‘;!,0119{?.&1 V1Y%t

3.Human resource dynamics -- 3.Hlsld AAldet duldeiladl

4.Human resource development planning -- 4. Hleld AALYst [AsiA v1108

5.Human resource audit -- 5.Hleidl {14l B[S

Choose the correct answer -- 4194 Gl U¢ 52 [ 1 Mark |

(1), (3) and (5)

(1), (2), (3) and (4)

(3) and (5)

(1), (2), (3), (4) and (5)

Ensuring diversity within an organisation is likely to lead to - Aeui (aldudl Qif;l (2dd $2dl
ds €131 wdleil AsAAL D [ 1 Mark |

= Increase the number of potential candidates for each job - €35 o531 Ul deldd
GedlRlefl HuAIHi arliR

= Wider points of view within the organisation - {2 U] UIUS &_@QQ[

= More representative workforce - 4Y Uldlifd siRivo

= All of these - GURLStl viu| %

Assertion: Tax avoidance is an art of avoiding tax without actually Breaking the law
Reason: Avoidance of tax is not illegal

(Ctilel: 52 BARLeAl W WAR S1ULLell ¢idL SUL [Aell 52 2lndie(l s0L )
$1R81: 52 2LNd) ASIABAUR el [ 1 Mark |

= Both A and R are incorrect - [Atllol Aol 51281 Wia W12l &
= A s correct, but R is incorrect - [dtllel A1) & URL 5121 W1 &



= A is incorrect, but R is correct - (A&t Un@ B Bl 5128 1Y 2]
= Both A and R are correct - [dtllol el §1231 bial A1UL B

e Which of the following alpha numeric number that is issued by Income Tax Department applies in
case of Tax Deduction Account Number or Tax Collection Account Number (TAN)?

oflAotiniefl sUL WIEHL YNRS oiti2 B vilASAR (AL GIRL 23] s 211d ] d 52 sUld
5162 oivdR Weldl 25U $A52Act Ws1Go2 oiviell [SRAIUI 2L US 82 [ 1 Mark |

= 5-digit - 5-¥151Y

= 10-digit -- 10-¥i51Y
n 15-digit - 15-i51
= 20-digit -- 20-%45

 Liability of partners in respect of the firm's debt is.... -- U&lell 2dleli Aee{Hi oLl 121l
LM EIRL... [ 1 Mark |

= Limited up to the amount of his capital in the business - tt[H] dsil 1—1\5101'1 SH Q;I,tﬂ
HAUiled

= Unlimited -2{HA{[td

= Limited up to the amount of guarantee given by the partner - HLflelR Glel1ug 14
1 1A¢] A2l 254 Yl Haulled

= Limited up to the amount of his capital and loan to the firm if any - defl H\Srl AR RVAR
cllotefl 254 Yl Hulled

e Sale of securities after the trading hours of the stock exchange is known as -
221S Vs Aol sIUSI%eLi sALs UL RisUL RN AUl a3 wlawiy & [ 1 Mark
]

Stop loss - a5 Lol Ud w251l
Kerb dealing - ¥i§[21d cadsR
profit taking - a5l Adl

Short selling - e A6l

e When an existing company offers it shares for sale to the existing shareholders, it is known as.....
Rl Sleloil $Usil deil ddHlel AUI251a QUL HIRZ A Vil D AR A a3
BlOwId 8 [ 1 Mark |

Offer for sale - AULQL HI2 W&
Private placing - (NIEEIISIFCIE]
Bonus issue - (el oy
Rights issue - 282 1Y

¢ Bluechip means..... -- O-Ciﬁ-l\h"n el ey ..., [ 1 Mark |

= Shares giving consistent high rate of return - ¥clcl Qul £2 dnd AUl AR
= Shares guaranteed by the government - 43512 GI2L Widd3] AU Hi 41dd QR
= Shares listed in the stock exchange -- 215 W suAeos U [Aes AR

= None of these - SITUBL «i€]

e The gilt- edged market refers to the market for_-- Blc-a-a*’gs O woARel a6 31
& [ 1 Mark |

= A shares and debentures - 212 ol [SAU

= Securities of public limited company - ylogs (afHes suslel IR

» Industrial securities — 2181015 RIS R

= Government and semi Government Securities —- 825131 ¥1al Wt U132 RsARE»

¢ When quick ratio is 1.5 : 1 and the amount of quick assets Rs. 30,000, what is the amount of quick
liabilities?
U2 PSUl RN 1.5 : 1 S1U el HSUL [HASd 2. 30,000 S1AU AR BSUL taledl 25U Fed]
&21? [ 1 Mark |

= Rs. 20000



= Rs. 50000
= Rs. 45000
= Rs. 30000

Higher the ratio the more favourable it is. This does not apply to_ --

dyRNtR B2dl Gl A gy Beisn B, vil UR @12, USd iefl [ 1 Mark |

= Operating ratio - AUl -'{LQHT‘IZ

» Operating profit ratio - sisi?) ai§l JlQndl
Stock turnover ratio - 51513 al§1 RNt
ROI-- 1518l U2 ddRell JRIldR

Capital redemption reserve account is available for......... -- 3-LS'1 Yl WeilHd U{lti
HI2 Gudod 8 [ 1 Mark |

Issue of Bonus share - 6llel 212 ¥{1udl

Redemption of redeemable preference shares -- RSINwE Use 2R Ud 527l
Redemption of redeemable debentures - RSAWE (SAUY Ud Sdl
Reorganisation of share capital -- AR 3-1\5’1{:1, 1;l,°13[6°1

Transfer to capital redemption reserve account is allowed from -
% WildiHiell Y3l U Wetlid VLdIMi 25U 2leu R sdleil 1YL B [ 1 Mark |

Capital Reserve - 1-,!\5'1 WailHd

General reserve -- lHle¥ Aol Hcd
Share forfeiture account -212%H1 Wlq

= Share premium account -- ull{luy Wlq,

X and Y are sharing profits in the ratio of 4:3. Z joins and new ratio among X, Y and Z is 7: 4: 3.
The sacrificing ratio between X and Y will be

X 3ol Y 4:3 oll UHIGIHI o158l A& 8. Z M1l d3 ALSIA & el X, Y el Z A oiq UL
7:4:3 8. X ¥l Y d {[Ggloio] UHIGL &2l [ 1 Mark |

= Equal - Uy
s 4.3
n 22
n 1:2



